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ENGLISH VERSION

Instructions : (1) Attempt all questions.

(2) Figures of right hand side indicate marks of questions.

1 An asset costing ¥ 1,00,000 is to be acquired, There are two 20
alternative available to the entrepreneur. First one is buying the
assets by taking a loan of ¥ 1,00,000 repayable in five equal yearly
installments of ¥ 20,000 each along with interest @ 14% p.a.
second one is leasing the asset for which annual lease is ¥ 30,000
and processing fees is ¥ 1,000 at the time of contract.

Present value factor at 10% is as follows :

Year : 1 2 3 4 5
PV. factor: | 0.909 | 0.826 | 0.751 | 0.683 | 0.621

Suggest the best alternative from above two. Assume tax rate to be
30.9%, and rate of depreciation is @ 15%, consider 10% discount
factor.

OR

1  ABC Ltd. produces most of its own parts and components. 20
The standard wage rate in parts department is ¥ 12 per hour,
variable manufacturing over head is ¥ 9 per labour hour and fixed
manufacturing over heads are charged at a standard rate of ¥ 10.50
per hour.

For its current year's production, the company will require a new
part. It would be necessary to increase the cost of production by
% 15,000 p.m. Estimated labour time for the new part is half an
hour per unit. Raw material cost has been estimated at ¥ 24 per
unit.

The alternative choice before the company is to purchase part from
market at ¥ 36 per unit. It is estimated that 2,00,000 new parts are
needed during the current year.

Give your opinion for best option from above.
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ABC Ltd. a company engaged in manufacturing of electronics 20
items, is considering a major expansion of its production facility
and impart of latest technology which is expected to improve its
profitability from the present rate of 18% to at beast 25% (profit
before interest and tax). The financial manager has given the
following proposals to the board :

Additional information :

Particular Options (Rs. in lakhs)
A B C D
Share capital 40 20 30 50
14% preference shares 20 20 - 10
16% debentures - 20 - 40
Term loan (20% interest) - 40 70 -
Lease finance (22% interest)| 40 - - -
Total 100 100 100 100

Chose the best option.
OR

Hema Ltd. is thinking to purchase a new machine in the place 20
of running old machine.
New machine : Prize of machine : ¥ 1,80,000
Useful life : 5 years, scrape value : ¥ 9,000.
Old machine : Market value of old machine is ¥ 1,05,000.
Remaining useful life of machine is 5 years.
Tax rate of company is 32.445%, cost of capital is 11%.
Discount factor at 11% is as follows.
Year : (1) 0.9009, (2) 0.8116, (4) 0.7312, (4) 0.6587, (5) 0.5935
Calculate depreciation at 15% by reducing balance method. Profit
will increase ¥ 36,000 due to new machine.
Give your opinion.

Explain meaning of corporate tax planning and also explain 15
corporate tax structure and authority.

OR
(a) Explain difference between tax planning and 8

tax management.

(b) Explain tax evasion and tax avoidance. 7
Explain classification of companies in India for tax purpose 15
only.

OR
Explain residential status of companies. 15
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